) = b[e) Ej3 #® 8 g = % % E(e) #® #

R BREGH BREE AN BREGH HREEE
ERC256E | 244 | IR | TFR25E | FR24%| IR | TFR25E| FR24%| HEIE | TFR2SE| FR24%E| BIE | FRSE| FR24%E| IR | FRSE| FR24E| B
B T # % 133 145 -12 127 143 -16 955 98.6 -3.1 1,606 1,784 -178 840 1,070 -230 523 60.0 -7
[ 1T ) 54 65 -11 53 64 -11 98.1 985 -0.4 677 773 -96 340 599 -259 50.2 775 -273
S5 R 37 30 7 34 24 10 91.9 80.0 119 347 377 -30 124 186 -62 35.7 49.3 -136
2L R 6 18 -12 8 18 -10 133.3 100.0 33.3 119 123 -4 68 73 -5 57.1 59.3 -2.2
SHREK 3 6 -3 3 5 -2 100.0 83.3 16.7 77 112 -35 66 58 8 85.7 51.8 339
SHEK 8 11 -3 7 12 -5 875 109.1 -216 134 161 -27 66 91 -25 493 56.5 -72
2 B 0w 37 39 -2 33 40 -7 89.2 102.6 -134 372 470 -98 228 170 58 61.3 36.2 25.1
b= TT R ) 7 12 -5 5 10 -5 714 83.3 -119 74 120 -46 38 44 -6 51.4 36.7 14.7

E B W 1 5 -4 1 5 -4 100.0 100.0 31 31 22 22 71.0 71.0
¥ MM W 2 2 2 2 100.0 -| 1000 34 27 7 19 15 4 55.9 55.6 0.3
R 3 2 1 4 1 3 1333 50.0 83.3 17 32 -15 10 20 -10 58.8 625 -3.7
B o ™ 6 5 1 7 7 116.7 140.0 -233 61 52 9 41 32 9 67.2 61.5 5.7
=5 B W 1 3 -2 1 1 100.0 33.3 66.7 15 27 -12 6 15 -9 40.0 55.6 -15.6
¥ R 0w 4 1 3 4 1 3 100.0 100.0 13 15 -2 6 12 -6 46.2 80.0 -33.8
" @1 W 4 2 2 4 2 2 100.0 100.0 44 33 11 14 17 -3 31.8 515 -19.7
WFEF AT 1 1 1 1 100.0 - 100.0 35 32 3 7 19 -12 20.0 59.4 -39.4
B mWm 2 2 2 1 1 100.0 -| 1000 23 33 -10 13 15 -2 56.5 455 110
E E ™ 2 1 1 2 1 1 100.0 100.0 21 21 14 18 -4 66.7 85.7 -19.0
x W 2 1 1 2 1 1 100.0 100.0 25 41 -16 9 18 -9 36.0 43.9 -7.9
% 0O ™ 2 1 1 1 1 50.0 100.0 -50.0 42 11 31 16 5 11 38.1 455 -74
1 UERF0 < ET 2 -2 1 -1 - 50.0 -50.0 25 9 16 10 3 7 400 333 6.7
EME R SHET 1 1 1 2 -1 100.0 -| 1000 11 13 -2 9 12 -3 8138 923 -105
EOEEEME - - 7 4 3 2 2 28.6 50.0 -214
/1N B 2K BT - - 14 11 3 7 7 50.0 63.6 -136
BEREAIER - - 2 1 1 1 2 -1 50.0 2000 | -1500
= H AR 8% BF AT 2 1 1 2 1 1 100.0 100.0 11 7 4 1 6 -5 9.1 85.7 -76.6
Fé5 R AR g5 R T 1 1 1 1 100.0 100.0 9 5 4 4 5 -1 44.4 100.0 -55.6
Fé5 FH BB 2= S AT - - 3 1 2 1 1 333 100.0 -66.7
EABERAFR - - 1 1 1 2 -1 100.0 2000 | -100.0

AKREBAKFGET - - 1 2 -1 1 2 -1 100.0 100.0
A K BB 3 R T - - 15 7 8 5 5 333 714 -38.1
AN B (s ch T 1 3 -2 1 2 -1 100.0 66.7 333 13 5 8 7 2 5 53.8 400 13.8

Z O ith O T BT - - - -
]85 1 -1 1 -1 - 1000 | -100.0 10 10 8 8 80.0 - 80.0




